ca191 PHEW
\ MATHEMATICS- 9t

f Note There are THREE sections in this paper i.e. A,B &C. Attempt Sectlon—A and return it io ihe

superintendent within the given time. No marks will be awarded for cutting, erasing and
overwriting. Mobile Phones are strictly prohibited in Examination Hall.

Time: 20 minutes Section A ' Marks: 15
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The determinant of the matrix |:2 _ _4] isequal to ....wveerennee,

A 24 B 24 ¢ 12 0¥ o

(-4 = wrvrsernnsnre N 12 B 12 oY w64 D 94
N E) AV B) -1 ¢ - D) i
B 2
INX = 2INY = covrerrrerreersanee A) mZ B Inxy> €) . InZ- D) Wln—%
y Sy 'y

a + b is a factor of ......... A) Y a*-b* B) d+b* C) & - D) (a-b)
0.00729.in scientific notatioh is equal to............

A) 7.29x10 B)~ 7.29x107 C) 7. 29x107% D) (x+2)(x* —2x+4)
X A8 = s

A (x+2)(x +2x+4) B) (x+2)(x*+2x-4) C) (x+2)(x2 ~2y) Di‘”‘fju)(xz-z“ )

HCF of (x+6)2 and X2 = 36 1S svevesnrereasiansrersns
Al %6 B) .(xt6) (x-6) C)%:G D) *-6

The soiution set of \/;C- =-=101s.. 7
A) {} B) {10} C) {10} D)‘ ~ {100}

The point (—1,\/2_) is located in.quadrant ...
A) \Y B) 1l C) I D) 1

" The coordinate of the midpoint of the segment joining the points A(4,6) and B (2,2) are,

A (68) B) (86 ©  (43) D™ (34)

If opposite angles of a quadrllateral are equai in measure and none of them is a rlght
angle, then the quadrilateral is a :
A) Square B) v parallelogram C) trapezmm D) rectangle
In ABC, medians AD, BE and CF intersect at G, if CF = 24, what is the length of FG?
A) v 8 B) 10 ¢ 12 D) 16

In AABC, m£A=90°,m£B =53" and m£C =37°, What expressmn correctly

relates the length of the sides of this triangle?

AW mBC>mAB  B) mAB>mCA C)  mBC<mCA D) mAB<mCA
if measure of three angles of a triangle are known how many triangles can be
constructed?

A) no triangle - B) onetriangle C) ~ ‘two triangle D) infinite triangies
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.- 1. Atteolpt any nine of the. followlng 'All cary equal marks
RS ERL [21 %]S“C’WthattAB) o
. ll,._ Scive theequallon 4x+3y—-2 X2y =5, uslng Cramersltlle .

‘ ..ill_.”Slmpllfy (25) e - o R .
W Find the value of a2+62§-c2';ab7pcica when oéb;t, peb;s, o—‘_q;4

S 7848x0.0431
‘v._Solve 2833

i the help of lo'.ga.rlthm..'l -
- vl._'.'FaotorlzoZ+5t 128 . |
vtl lfx f ¥z, ﬂndthevaluesofx—-l and e +—1!- '
' lnl Factorlze 4x5—256x2 i _
o ix Find lhesquarerootof X+ —%x —-4x+16 bydlvlston melhod.
x Flndthesolutlon set of10(x 4)=4(2x 1)+5
X Find e LOM of =%, - and 6 by’ faclorizatlon method
" mldl@'sqm s§:-§f|3x-_5;-g7=11, | |
' SECTION-C - . - -'-'5
- s o Marka 24

. NOTE Attempt any three of tha following questions AIl questions carry equal marks

"2 Prove that the polnts A(—2 0) B(2 0) and G(O «/— 2)are the vertices of an equ:lateral triangle
3. lf two opposite sides ofa quadnlateral are congruenl then lhe quadnlatetat ls a parallelogram :

- '4. ~ Iftwo angles of a trlangle are unequat in measure, the slde opposute fo the greater angle IS .
- longer than the Slde oppostte to the smalier angle. - B _ :

5, "Construot APQR draw their altitide and venfy their concurrency. mPQ ﬁom, mé P=70° -
and m£Q= 65“ Also write down the steps of constructlon S R



